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1. Which of the following statement is/are correct about Draupadi Murmu, the Honourable

President of India ?

i. Was the first woman Governor of Jharkhand.

ii. Was elected as the Councillor of Rairangpur Nagar Panchayath.
iii. Was the Minister of State with independent charge for Commerce and Transport.
A) Onlyiandii B) Only i and iii

C) Only ii and iii D) All the above i, ii and iii
2. Who was the main leader of Keezhariyur Bomb Case which was associated with
Quit India Movement in Malabar ?
A) Dr. K. B. Menon
B) K. Kelappan

C) Muhammad Abdur Rahiman
D) K. Kumar

3. Who opined that ‘nothing, except the annihilation of caste system, can emancipate
the oppressed caste people’ ?

A) Mahatma Gandhi

B) Ambedkar

C) Raja Ram Mohan Roy
D) Vivekananda

4. Which historical event resulted in the deposition of James Il and the accession of
his daughter Mary Il and her husband, William Il ?

A) French Revolutions
B) English Civil War

C) Russian Revolution
D) Glorious Revolution

5. “Rationalism is not a religion. It is an attitude to accept knowledge based upon

reason.” Whose words are these ?
A) Sree Narayana Guru

B) Poikayil Yohannan

C) Sahodaran Ayyappan

D) Chattampi Swamikal
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6. Match List — | with List — Il and select the correct answer by using codes given below.

List -1 List -1l

a. Jayaprakash Narayanan 1. Netaji
b. S.C. Bose 2. Loknayak
c. B.G. Tilak 3. Lion of Punjab
d. Lala Lajpat Rai 4. Lokamanya
Codes :

a b c d
A) 2 3 4 1
B) 3 2 1 4
C) 2 3 1 4
D) 2 1 4 3

7. Who introduced the concept of Neo-determinism ?

A) Ratzel B) Ellen C. Semple
C) Griffian Taylor D) Vidal de la Blache

8. Which one of the following is a source of information helped to understand the
structure of the interior of the earth ?

A) Primary wave
B) Secondary wave
C) Surface wave
D) Love wave

9. Which ocean currents flow in the western coast of South Africa ?
A) Auglhas currents
B) Humbolt currents
C) Canaries currents
D) Benguela currents

10. 10 degree channel separate group of island in two group.
A) Andaman and Nicobar
B) Maldweep Island
C) Gulf of Mannar

D) Sri Lanka

11. Name the place where the Alaknanda and the Bhagirathi rivers meet.
A) Rudra Prayag B) Deva Prayag
C) Haridwar D) Alahabad
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12. Temperate grassland prairies locates in which continent ?

13.

14.

15.

16.

17.

A) South America B) Europe

C) North America D) Africa

The term input tax credit is associated with

A) Value Added Tax B) Goods and Service Tax
C) Income Tax D) Corporate Tax

In India, price of rice is influenced by (1) Consumer subsidy (2) Minimum Support
Price (3) Trading by Private Parties.

Select the correct answer :
A) 1,2and 3 B) 1and 3 C) 2and 3 D) 1and 2

“To create a knowledge, innovation and entrepreneurial support system through a
collaborative community of national and international experts, practioners and other
partners.” This is the objective of

A) Earn While You Learn Scheme
B) NITI Aayog

C) Skill India

D) Planning Commission

“Faster, More Inclusive and Sustainable Growth” was the watchword of
A) 11" Five Year Plan

B) 12" Five Year Plan

C) 13" Five Year Plan

D) None of these

Consider the following statements :

1.

Direct taxes in India are overseen by the Central Board of Direct Taxes and Indirect
Taxes by the Central Board of Indirect Tax and Customs.

. Direct taxes in India are overseen by the Board of Direct Taxes and Indirect Taxes

by the Central Board of Indirect Tax.

. Direct Taxes in India are overseen by the Central Board of Indirect Taxes and Indirect

Taxes by the Central Board of Direct Tax and Customs.

. Direct taxes in India are overseen by the Central Board of Direct Taxes and Indirect

Taxes by the Central Board of Indirect Tax and Excise.

Select the correct answer :
A) 1 only B) 2and 3
C) 1and 3 D) None of these

-6-
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18. “l know only one culture, that is agriculture” is the statement of
A) Bankim Chandra Chatteriji B) Jawaharlal Nehru
C) Sardhar Vallabhbhai Patel D) Lal Bahadhur Shasthri

19. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.
a. A Minister who is not the member of legislature for a consecutive period of six months
shall cease to be a Minister after the expiry of that period.
b. The Advocate General of the State shall be qualified to be appointed as the judge
of the High Court.
c. A bill pending on parliament will lapse on the prorogation of the house.
d. A bill pending in Rajya Sabha which has not been passed by the Lok Sabha will
lapse on dissolution of the house.
A) All the statements are correct
B) Statements (a), (c) and (b) only
C) Statements (a), (d) and (b) only
D) Statements (a) and (b) only

20. Which of the following deals with the power of Supreme Court to grant special leave
to appeal ?
A) Article 136 B) Article 131 C) Article 133 D) Article 132

21. Doctrine of Repugnancy is related to
A) Relation between fundamental rights and directive principles
B) Inconsistency between State law and Central law
C) Immunity from taxation
D) Acquisition of property

22. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.
a. A single person can be treated as a class for the purpose of legislation.
b. State shall provide free and compulsory education to all children between the ages
of 6 to 15 years.
c. Art. 31 of the Constitution was omitted by the 42" Amendment.
d. Equal justice and free legal aid was inserted to Part IV of the Constitution by the

42" amendment.
A) All the statements are correct
B) Statements (a), (d) and (b) only
C) Only statements (a) and (d)
D) Statements (b), (c) and (d) only
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23. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.
a. Promotion of international peace and security is one of the fundamental duties of an
Indian citizen.
b. Writ jurisdiction of High Court and that of Supreme Court are not equal in its scope.
c. The President can be impeached for proved misbehavior and incapacity.
d. Pardoning power of the President and pardoning power of Governor are not equal
in its scope.
A) Only statements (b) and (d) are true
B) Statements (a), (b) and (d) are true
C) All the statements are correct
D) Only statements (d), (b), (c) is correct

24. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.

a. The Chief Election Commissioner shall not be removed from his office except on the
like grounds that of a judge of Supreme Court.

b. The Public Service Commission has no role on the disciplinary proceedings against
Civil Servants.

c. A civil servant can be dismissed from his service only by the appointing authority.

d. The National Commission for Scheduled Castes and Scheduled Tribes has the power
to enquire into the cases of deprivation of the rights.

A) Statements (a) and (d) are true

B) Statements (a), (b) and (d) are true

C) Only statements (b) and (d) are true

D) All the statements are correct

25. Analyse the following statements (a) to (d) and find out the correct answer from the

options A, B, C, D.

a. 53" Amendment of the Constitution — Anti defection law

b. Eighth Schedule of the Constitution — Languages

c. 101® Amendment of the Constitution — Article 246 A

d. Local Self-government — 73" Amendment of the Constitution

A) Only statement (a), (d) and (c) are true

B) Statements (c), (b) and (d) are true

C) Only statements (c) and (d) are true

D) None of the above

26. The Constitutional remedy available to protect a citizen from illegal detention
A) Mandamus B) Prohibition C) Certiorari D) Habeas Corpus

A 10-
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27. Who is the current speaker of Lok Sabha ?
A) M.A. Ayyangar
B) C.N. Annadurai
C) O.M. Birla
D) Abhilash Banerjee

28. Which one of the following services not included in Schedule | of the Kerala Civil
Services (Classification, Control and Appeal) Rules, 1960 ?
A) The Kerala Agricultural Services
B) The Kerala Animal Husbandry Service
C) The Kerala Last Grade Service
D) The Kerala Architectural Service

29. Which among the followings come under Category-2 of geologically related disasters
under the Disaster Management Policy 2010, Government of Kerala ?

A) Tsunami B) Flood C) Lightning D) Cyclone

30. Which of the following statements is/are correct about Prathyasha Scheme of Social
Security Mission in Kerala ?
i. The Prathyasha Scheme is to help economically poor parents in getting their daughters
married.
ii. The eligibility criteria for beneficiaries of the Prathyasha Scheme should be above
22 years.
iii. The annual family income of the applicant should be below Rs. 75,000.
A) Onlyiandii
B) Only i and iii
C) Only ii and iii
D) All of the above i, ii and iii

31. Which of the following statement is not correct about the State Commission for the

Protections of the Children’s Rights ?

A) The Chairperson of the State Commission for the Protection of Children’s Rights
shall be appointed by the Chief Minister and Council of Ministers

B) The Chairperson and every member of the Commission shall hold office for the term
of three years from the date on which he assumes office

C) The State Commission for the Protection of Children’s Rights shall consist one
Chairperson and six members

D) The Secretary of the Commission shall be responsible for the proper administration

of the affairs of the State Commission and its day-to-day management
A -12-
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32. Which one of the following is not the impermissible delegation ?
A) Commencement

B) Exemption
C) Modification
D) Repeal of law

33. Which of the following statement is not correct about objectives of Kerala State
Literacy Mission Authority ?

A) Retention of literacy skills and provision of opportunities to the neo-literates to take
their learning beyond basic literacy

B) Ensuring the sustainability of the Kerala model

C) Creating scope for application of functional literacy forimprovement of living conditions
and quality of life

D) Ensure primary-level education to the whole of Kerala

34. Vitamins and their corresponding deficiency diseases are given below. Choose the
incorrect one.

A) Calciferol - Rickets

B) Tocopherol - Pellagra

C) Retinol - Night blindness
D) Ascorbic acid - Scurvy

35. The International Day for Disaster Reduction celebrates every year on

A) 24 December B) 14 August C) 13 October D) 28 November

36. Which of the following diseases is not a target under The National Vector Borne
Diseases Control Programme ?
A) Malaria

C) Dengue fever

B) Kala-azar
D) Cutaneous Leishmaniasis

37. Choose the correct one from the four options to the given statements.
Statement | : Type 2 diabetes is an endocrine disease involving pancreas.

Statement Il : Type 2 diabetes once diagnosed patient is always started on insulin
therapy.

A) Both statements are wrong

B) Statement | is right, but statement Il is wrong
C) Both statements are right

D) Statement | is wrong, but statement Il is right
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38.

39.

40.

41,

42.

43.

44,

45.

Which of the following statements are true ?
i. Heart starts beating and heart beats can be heard just after birth.
ii. Normal human heart rate is 60 — 100 beats/minute.
iii. Heart beat rate decreases on exercise.
iv. Emotional and physical health are more important for maintaining a healthy heart.
A) Onlyii and iv B) Onlyiiiandiv C) Onlyiandiv D) Only ii and iii

A sphere weighs 300 N on the surface of the earth. If it falls a distance of 1/3" down
the centre of the earth’s, then its weight will be about

A) 900 N B) 200 N C) 300N D) 100 N

If there is a sudden fall in the barometric reading, then we can expect
A) Snow fall B) Rain C) Storm D) Heat

A 1 m string is divided into 3 segments of 25 cm, 35 cm and 40 cm. The fundamental
frequencies of the three segments are 280 Hz, 140 Hz and 70 Hz. Then the original
frequency of the 1 m string will be

A) 140 Hz B) 70 Hz C) 60 Hz D) 40 Hz

On 11" June 2019, Space Co-operation of India signed MoU with which country ?
A) Tunisia B) Bangladesh C) Lithuania D) Luxembourg
The relative basic character of the following conjugate bases follows the order
A) CIO; <CIO < CIO; < CIOZ1 B) ClIO < CIO; < CIO; < CIOZ1
C) CIO; < CIO; < CIOZ‘ < CIO™ D) CIO < CIO; < CIOZ1 < CIOZ‘
Which of the following properties are true about a mixture ?

i. A mixture shows the properties of its constituents present in it.

ii. The composition of a mixture is fixed and it possess a definite formula.
iii. Elements or compounds just mix together to form a mixture and new compounds

are formed.
iv. Composition of a mixture is not absolutely same throughout.
A) iandii are correct B) iand iv are correct
C) ii and iii are correct D) i, ii, iii and iv are correct

Reserpine, Quinine, Nicotine and Piperine are examples of the following classes of
alkaloids

A) Indole, Quinoline, Pyridine and Piperidine

B) Quinoline, Piperidine, Pyridine, Indole

C) Indole, Quinoline, Pyridine, Isoquinoline

D) Quinoline, Piperidine, Indole, Pyridine
-16-
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46.

47.

48.

49.

50.

51.

52.

53.

54.

Misch metal is an alloy of

A) 5% lanthanides, 95% iron and traces of S, C, Ca, Al

B) 95% actinides, 5% iron and traces of S, C, Ca, Al

C) 95% transition metals, 10% Al and traces of S, C, Ca, Zn
D) 95% lanthanides, 5% iron and traces of S, C, Ca, Al

Who among the following is not associated with Circus in Kerala ?
A) Keeleri Kunhikkannan B) Miss Yasoda
C) Poovandan Kunhambu D) C.V. Narayanan Nair

The Indian Hockey men’s team won gold medal in the Amsterdam Olympics of 1928.
Which among the following statement is/are correct about the performance of the
Indian team in that Olympics ?

i. The team scored 29 goals without reply in 7 matches.
ii. The hockey wizard Dhyan Chand scored 14 goals.
iii. In the final match India defeated Netherlands.
iv. In Olympics, it was the first Indian medal for hockey.

A) Onlyiandii B) Only ii, iii and iv

C) Onlyiiand iv D) Only iii and iv

The author of Vyazhavattasmaranakal

A) B. Kalyani Amma B) P.K. Narayana Pillai

C) E.V. Krishna Pillai D) Kunnath Janardhana Menon

The Maramon Convention is held in the district of
A) Kollam B) Kottayam C) Pathanamthitta D) Ernakulam

The number of illiterate persons in a country decreased from 15 million to 50 lakhs

in 8 years. What is the percentage of decrease ?
1 1 2
33— 66— 66— D
A) 3 B) 3 C) 3 ) 30

If the compound interest on a certain sum for two years at 5% p.a. is Rs. 2,050. The
simple interest on it at the same rate for two years will be

A) Rs. 2,000 B) Rs. 1,950 C) Rs. 2,050 D) Rs. 1,000

A 200 m long train crosses a 320 m long platform in 13 sec. How much time will it
take to cross a platform of 160 m ?

A) 6.5 sec B) 8 sec C) 10 sec D) 9 sec

If 7%~ 3x 52~8 _ 1225 then x =
A) 5 B) 2 C) 3 D) 4
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55.

56.

57.

58.

59.

60.

61.

62.

How many terms of 2, 10, 18, .. ., .. ., . . . must be taken to give a sum 552 ?
A) 10 B) 12 C) 14 D) 16
Find the alternative which will replace the question mark :

FULL: EXGS :: TIER : ?

A) UFJK B) uLQY C) SFzK D) SLzY

If Thursday falls on 20" September 1984, what day will be on 20" September 1992 ?
A) Sunday B) Monday

C) Tuesday D) Wednesday

X, Y and Z are sisters, W is the brother of V and V is the daughter of Y. How is X
related to W ?

A) Cousin B) Aunt C) Sister D) Niece

Anu walked 30 m towards north. Then she turned right and walks 40 m. Then she
turns right and walks 55 m. Then she turns left and walks 25 m. Finally she turns left
and walks 25 m. In which direction and how many metres is she from the starting
position ?

A) At starting point B) 65 m West

C) 55 m East D) 65 m East

If the reflection in a mirror of a 12 hours clock shows 1:45, what will be the original
time ?
A) 9:10 B) 10:15 C) 10:45 D) 9:45

Who are the Abkari Inspectors among the following officers in Excise Department ?
I. Excise Inspectors
Il. Assistant Excise Inspectors
lll. Circle Inspectors of Excise
IV. Preventive Officers
A) Only | B) Only I and Il C) Only I, Iland Il D) All of the above

Pick out the incorrect statement.

A) Excise Inspector is an officer appointed for performing the duties under Section 40 to 53
of the Abkari Act

B) Excise Inspector can only register Abkari crimes in Excise Range office
C) Excise Inspector can grant bail in bailable offences
D) Excise Inspector has the power to investigate an Abkari offence
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64.

65.

66.

67.

68.

Name the Section that authorize Abkari Inspector may summon persons suspected
of offences against Abkari laws.

A) Section 44 B) Section 46 C) Section 47 D) Section 48

Pick out the incorrect statement in respect of arrest and seizure under the Abkari Act.
A) Person arrested shall be informed of grounds of arrest
B) In bailable offence, arrestee shall be informed of entitlement for balil

C) Person arrested shall be produced before the Abkari Inspector without unnecessary
delay

D) Name and address of arrestees to be displayed in Excise office

State which is an incorrect statement on permits of transport as per Abkari Act ?

A) Permits for the transport of liquor may be issued by the Commissioner or by any
person duly empowered in that behalf

B) Every permit shall specify the name of the person authorised to transport liquor
C) Every permit shall specify the period for which the permit is to be in force
D) Permits shall issued only to reputed firms alone

Which Section in the Abkari Act empowers an Excise Inspector may arrest offenders
without warrant in any public thorough fare or open place other than a dwelling house
without preparing a search memo ?

A) Section 30 B) Section 32 C) Section 34 D) Section 36

State the authorities empowered to issue a search warrant on application by an
Excise Inspector as per the Kerala Abkari Act.

A) Excise Commissioner and Judicial Magistrate

B) Deputy Excise Commissioner and Assistant Excise Commissioner
C) Joint Excise Commissioner and Additional Excise Commissioner
D) None of the above

Choose the correct one among the following.

A) Under the Abkari Act, all Officers of and above the rank of preventive officers are
Abkari Inspectors

B) Preventive Officers in Excise Department can register Abkari cases

C) All Abkari Officers in Excise Department can investigate Abkari cases

D) Underthe Abkari Act, all Officers of and above the rank of Assistant Excise Inspectors
are Abkari Inspectors
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71.

72.

73.

74.

75.

76.

State the maximum wastage allowed under the Distillery and Warehouse Rules
for the import of spirits to a distillery for storing in Form IV A Bonded warehouse in
tanker lorries.

A) 1% B) 0.25% C) 0.5% D) 1.5%

Pipes in the distilleries used for the conveyance of different materials are painted with
different colours for identification. For the conveyance of wash, which colour of paint
is used ?

A) Blue B) Yellow C) Green D) Red

What is the meaning of the word “Feints” under Kerala Distillery and Warehouse
Rules ?

A) Impure spirit produced from the distillation of wash
B) The apparatus used for distillation

C) Wash back in the distillery

D) None of the above

What is the quarterly stock taking wastage on all finished products in stock in a
winery ?

A) Not exceeding 1% B) Not exceeding 2%

C) Not exceeding 3% D) Not exceeding 4%

Who among the following is empowered to conduct inspection at toddy shops under
Section 32 of the Kerala Abkari Act ?

A) Tahsildar B) Civil Excise Officer
C) Women Civil Excise Officer D) None of these

Under which Sections of Abkari Act, the Abkari Officers to have similar powers of
Police Officers for the purpose of investigation of offences ?

A) 30A B) 55A C) 53A D) 34A

According to Section 40(3) of the Abkari Act when seizure is made under
Section 31 or 34 of the Abkari Act, the properties should be produced before

A) The Court of Law B) The Excise Commissioner
C) The Abkari Inspector D) None of these

Who has the power to issue search warrant in Excise Department under the Abkari
Act ?

A) The Excise Commissioner

B) The Joint Excise Commissioner

C) The Deputy Excise Commissioner
D) The Assistant Excise Commissioner
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TPOCT® 9QTONG T BOTITBI), XRODTITIT ?
A) 30A B) 55A C) 53A D) 34A

€920590 TOOWTOD f@)&s 40(3) T 3,398 22890 %?03%033 ﬂﬁw\&e 31 &0 34 T RODY, BANTTY
BITRABTHOTIN ST, V[T WX THTOTRALIET)

A) T9,03RO0D B) ©20820 &030T0

C) 2080 ?D@eiﬁdo D) =00 cdntie e

©2T0 FoOUITON BRODY, WFO QB0 TeFF DT0EF TPTRIOT SRFTITDIY
BRODTORRTI 03T9TV ?

A) ©2T0 B30T

B) 0ed 500500 0303

C) vUT 50 Bo0TI

D) 3300308 ©920890 $03008T0
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77. What is the chemical formula of ethyl alcohol ?
A) CH30H B) CQHSOH

C) CHSCOOH D) None of the above

78. When did “Vimukthi Mission” awareness against alcoholism and drug abuse come
into force in Kerala ?

A) 2015 B) 2016 C) 2017 D) 2018

79. Match List — | with List — Il
List -1 List -1l
a. Ransomware I. A software that collects information about a person or

organization such as their internet activities, their personal
data, password etc.

b. Spyware Il. A software that gains continued access to a computer by
attacking the root or administrator access and exploits the
computer resources and other data stored in it.

c. Trojan Horse Ill. A form of malware that prevents access of the computer by
the owner and demands a ransom for its removal.

d. Root Kit IV. A form of malware that appears to perform an authorized
function, but in fact performs unauthorised functions such as
data theft and system harm.

A) a-IV,b-Il,c—-I,d-1l

B) a-Il,b—-1,c—1V,d-ll

C)a-ll,b-lLc—IV,d-1

D) a-Illbb-1V,c—1,d-1l

80. Darwin is the network administrator of the Chennai Office of a Company. He is
annoyed about his low salary and in rage disables the passwords of the other
employees so they are unable to access the company servers. Identify the liability
of Darwin.

A) Unauthorised Access

B) Denial of Access

C) Computer Source Code Theft
D) Disrupting Computer Network
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77. S5O SERTIC'S ToFO3IT AT, CBRFYTO ?

A) CH,OH B) C,H,OH
C) CH,COOH D) &0ed3 cdnm)ae 8
78. 3eTYTY, 0T T ) BRTFB,RIT DUCVSRENEN R RAVES e nlp K- en oy 201 200030 ?
A) 2015 B) 2016 C) 2017 D) 2018
79. =, — 1 ) T — Il TeolnR TeodR.
zes — | =~ 1l
a. méaer&raoﬁece l. m&wg 9300 xoﬂcpojo wﬁ\@wd E90TF© 2WeDREIBNGD, 9T
B,008% TTY0I, TR WEE WO0TDT B&LENTR), Bor, R
2029,03.
b. 3 Fec? IIl. TRt ©Fm BRAT T THeTRI ©F,[60 TRTW AT

TOTR, LT T JTOTT ,3eTBTY, THOIT 30,08 302 WWTIY,
AOT, TeIoNTIET O, L3T° FOTIQONED 30 93T TF0TBIY

WIRBRIOTT.

c. ¥Ry mFF Il SRGLT'T 00w TRTR) BRITOOT TOTR,BT'T T,[eTTIY
BEA0TTI 0B BTWT WOFBNTIR TEITS), V03T,

d. TRz 33 IV. 2,00 033 aoﬁarﬁﬁi QI EEOTOZ RETOF m%eces 2,000

CR%E, BTT [N T2203 FYIT WO RITF TCOTH
BIET,T FOORFNTI), AW LRTT.

A a-IV,b-Il,c—1,d-1ll

B) a—Il,b—I,c—1IV,d-1l

C)a-Illlbb-1lc—-1IV,d-1l

D)a-lll,b-IV,c—1,d-1l

80. TONFT® R0LVTWITI FOBNCIROTT ?,éigL o THEO0D BoZeTF© Ebmra%mﬂw%d @R IF TR0
Rows Wi AERNTT [T TRETTY, 9T YLTIRNNT T BT FNTFIY AKeNRRFATIT.
e:scﬁ@@ocs md@ageﬁmfo FOBDIOD :a’wrcfrwmq CHIMETISN TG, WINORDY, . WoRFIT
m%maﬁm@% noTO8A.

A) ©30TE T,3[e3

B) =,33¢3 Q0030

C) 3oTp,u30° B R’ 3YET

D) ﬁowﬁs&sce @oémrwwmq @%ﬁ@m@cﬁo
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81. Sheeja and Ravi are very good friends, (Complete the sentence with proper
question tag)
A) Are they ? B) Aren'tthey ?  C) Aren’t their ? D) Aren’tthem ?

82. My friend is fortunate
preposition)
A) Over B) By C) With D) In

winning a lottery worth one crore rupees. (Insert suitable

83. If we had followed the instructions of the Health Department, increasing Covid cases
well. (Complete the Clause suitably)

A) would have decrease B) would have decreased
C) would have been decreased D) would have be decreased
84. Rahoof had worked for one year in Bangalore before he here.
A) Came B) Comes C) Coming D) Had come

85. In which part of the sentence is the mistake ?
A) would have looked like me B) where we’ve applying
C) | was mistaken D) I'll let you see a proof of it

86. Which of the following words is wrongly spelt ?
A) Brutal B) Sulphide
C) Interrepted D) Process

87. Select the correctly spelt word.
A) Neverthless B) Nevardhless
C) Nevartheless D) Nevertheless

88. Choose the word which best expresses the meaning of the word ‘Terrible’.
A) Raging B) Dreadful C) Incursive D) Dangling

89. One who deals in clothes and cloth goods
A) Florist B) Satchel C) Draper D) Wardrobe

90. The idiom ‘Pull yourself together means
A) To secure B) To attack
C) To push something D) To calm down
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Space for Rough Work
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Space for Rough Work
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